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Question 1 
 
According to Alfred Weber’s theory of industrial location, three factors determine the location of a 
manufacturing plant: the location of raw materials, the location of the market, and transportation costs. 
 
Part A (2 points) 
 
Using an example of a specific industry other than the one portrayed on the map above, explain under 
what conditions an industry would locate near the market. 
 
Examples of appropriate industries  
(1 point) 

Explanation (1 point) 

Soft-drink bottling  
Bread products 

Weight/bulk are gained in processing/manufacturing; 
therefore the industry locates close to the market in 
order to minimize transportation costs. 

 
Note: The industry identified must match the explanation. 
 
Part B (2 points) 
 
Using an example of a specific industry other than the one portrayed on the map above, explain under 
what conditions an industry would locate near raw materials. 
 
Examples of appropriate industries  
(1 point) 

Explanation (1 point) 

Copper smelting  
Lumber products used for paper or 

furniture 

Weight/bulk are lost in processing/manufacturing; 
therefore the industry locates close to the source of 
raw materials in order to minimize transportation 
costs. 

 
Note: The industry identified must match the explanation. 
 
Part C (2 points) 
 
Using the map above and Weberian theory, explain the geography of ethanol plants in the United States. 
 
Factor for plant location (1 point) Explanation (1 point) 
Plants are located close to the key raw 
material of corn in order to minimize 
transportation costs

Ethanol is a weight-/bulk-losing industry. Corn is 
bulky; thus plants are built close to the supply of raw 
material in order to minimize transportation costs 
and maximize profit.  

.  

 
Note: “Explain” in this case should mean “tell why.” The explanation should be linked to Weber’s theory 
and discuss the weight-loss situation, or the second point is not awarded. 
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Question 1 
 
Overview 
 
This question was designed to enable students to show the degree to which they understood and were 
able to apply Weber’s theory of industrial location. The question prompted them with the name of the 
theory’s creator so answers did not depend on the student’s remembering a specific individual’s name. In 
addition to applying the theory to industries they knew something about, students were asked to apply the 
theory to the location of ethanol plants in the United States. 
 
Sample: 1A 
Score: 6 
 
The essay demonstrates a comprehensive understanding of Weber’s theory of industrial location and 
earned full credit. The response received 1 point in part A for correctly identifying the automobile industry 
as one that would locate near the market. An additional point was awarded for explaining that automobile 
production is a bulk-gaining industry that needs to reduce transportation costs by locating close to where 
its products are sold. The essay received 1 point in part B for correctly identifying the paper industry as 
one that should be located near raw materials. It gained an additional point for explaining that paper 
manufacturing is a bulk-reducing industry that loses considerable weight and volume in production and 
thus should be located near the source of raw materials. In part C the essay received 1 point for indicating 
that “ethanol is more cheaply transported than the corn used to make it.” One additional point was 
awarded for explaining that ethanol is a bulk-losing industry that is profitable when located near the 
source of corn. 
 
Sample: 1B 
Score: 4 
 
The essay received full credit in part A (2 points), full credit in part B (2 points) and no credit in part C. In 
part A it earned 1 point for correctly identifying the soft-drink industry as one that would locate near the 
market and 1 point for explaining that soda bottling is “a bulk gaining industry” that needs to be located 
near its point of sale in order to reduce transportation costs. In part B the essay was awarded 1 point for 
correctly identifying an “iron ore mill” as an enterprise that should locate near its raw materials and 1 point 
for explaining that iron ore extraction is “a bulk-reducing industry” in which the final product weighs 
much less than “the impure substance” and thus should be located near its natural resources in order to 
take advantage of the lowest possible transportation costs. The response received no credit in part C 
because the student never directly links corn with ethanol, nor is there a correct explanation of Weberian 
location principles. 
 
Sample: 1C 
Score: 3 
 
The essay received no credit in part A, full credit in part B (2 points) and partial credit in part C (1 point). 
No points were awarded in part A because the discussion centers on the location and processing of 
primary agricultural products and not Weberian secondary industries. In part B the response earned 1 
point for correctly identifying iron ore and steel producers as industries that would locate near their raw 
materials and 1 point for explaining that steel production reduces bulk and therefore processing should 
occur near the source of these materials in order to minimize the costs of transporting them. The essay 
received 1 point in part C for indicating that ethanol plants are located near the raw material (corn) in order 
to “cut down on their transportation costs.” No additional point was awarded in this part, as the response 
does not correctly link its explanation of the plants’ locations to Weber’s theory (i.e., by mentioning the 
bulkiness of the raw material). 


